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” _ Time : 45 mts
Stdibs 4 -5 : CHEMISTRY | X Total Score : 20

Instructions: - -
o Attempt the quest:ons based on the instructions prowded
e Score for each question is provided agamst the concemed
question.

1  Choose the right answer.
a) An isotope which is used as a reactor fuel is /
(Cobalt - 60, Uranium -235, lodine -131, Carbon -14) 1
~b) An element M exists as diatomic molecules, having

dquble bond in their structure. If so, the number of
electrons in the outermost shell of an atom of M must be ;

(12,46) Wwwshenischool.in | 1
2 Based on the given model', fill up suitably. |
a) Electon transfer : lonicbond ; ......... : Covalent bond 1
b) Chloride ion : CI" : Magnesium ion : .............. A

3 An :mportant observation relating to Rutherford’'s alpha
scattering experiment is as follows: |
“Most of the alpha partlcles passed through the gold foil
without any deviation.”

What inference did Rutherford arrive at based on this? 1

!2

4 Cand-C

Can we consider the two atoms given in the box as a pair
of isotopes? Explain with reason. - — 2
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Electronegativity values of some elements are shown
below. A

H=22 0=35F=4 §=258 SHplk
Check whether the bond that exists i in SO, molecuie i is

ionic or covalent, based on the electronegativity values. 2
In column 'A’ of the following table, the names of

/ some scientists are listed and their contributions are given

in column 'B', but in a disordered form. Match them suitably.

| {John Dalton | Law o_f'c_on_stant propoﬁion

- | Joseph Pro_usf\_ Plum pudding model

A B _x
\(\%.

J.J Thomson _ N Planetary model

Rutherford | Atomic theory SesiB

NaCl and CCl, are two compoun itr;/t/lbse similarity:
that is both of them are Cloride €ompodnds Yet, they do
WWW. shenlschool |r\/’/j¢f

i) What must be the reason for this d:fference’? 1

i) Write any two pair of differenices seen in thelr_ properties. 2

The mass number of an atom R is 23. The M shell of this

atom contains jUSt one eiectron.

a) Write down the electron ccmflguratlon of the atom R. 1

b) What is the atomic numberof R? e
c) How many neutrons does R have? R R
‘Draw the Bohr model of the atom ',F . _ 3
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